EARAROBREBRT —5 XN—ZXBISH—F

2023598228 (&) 7EIEI4E

5$5F[|8 0039V RKR USRI \ (X 2 \ (SEwml — | 5 8000 FE
[xE%] 1% :1,400,000 3 . 23#&:560,000 .~ 33&:350,000 @  43&:210,000 9 . 5 & :140,000 3
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S~ = . EN-EZN . - . - TikfeeE Cafl)
gl TryvTXsLR 3| EE g9 | %0 2 | | 2EOR
RFURARYZwT B I4AYVI)LaY SIERS
S — 4 3 | EERES 48.0 2-2 3B.7| — 1 494 | EIFERE (#o18)
20811 EY77AHFILO 54.0 1/2) +5) %EH) BPAVESY A
R:AU—rvEe—0O— 8N Iv—vvS (B) H8I1-—RL—YavEEIT 7
7 ¢ 43 | WAENE 48.7 3-3 3.1 — 6 | 453 |H“BIEE @#E)
3|7|10| NI NNT %.0 &) o0 |EESE
R:7ROFVISL B:IT7Y—IvF BRAt =ERESHEER VY
== N 4 3 | R 48.9 5-4 36.3| — 3 458 | NERR GETD)
4|56 |=33O09 VR 2520 &) (t6) | LIRS
RiAYNUPIFY BioAYF7YTOv7 brrate ]
s 3 | HOEEADRE 49.4 9-7 3.4 — 9 | 445 |R&IIR CH)
5[1]1]7* 54.0 @172 (3 |EEEE
R:5=Z B:ReIA(EYYIY FIAI TG
B3 | REER 49.6 4-5 7.1 - 4 | 387 |HOE CEID)
ETES 54.0 a1/2 7 | @ YGGK—2I5F
RS IIVITIVR B:i5R—va HARUNOZ7—LA
= =[5 — - - EH—E G
TATAVIALH— H 3 ié’ﬁ_ﬁ (74%67) 6-6 37.0 1 21_027) %gﬁ%g GRFD)
R:FI/IVITYR B N=TFNFT /A KigHis
REXE/SS9 (X i 3 ﬂagi%‘éé,% (1491./92) 12-11 [36.5| — 8 (4+5;1) égg E(%Vfﬁ)
R /759 B:AHV/ —T7 ZRENIE RE R
~ hER% . - . - EEWB A
JUFYIER 4t 3 e 5(%1 7-8 37.3 7 (4:)34; R
RINZ—=N\DUR B:/—TxA b w\A —al
T Y—)STH i 3 ﬁﬁ?m 5?2.)5 10-10 |37.3| — | 12 (4_118) %I%EQ (&#0)
RiF4—IITAT4 B AIAU—NDRYT FRE®S
— 4 3 | BRLS 50.6 8-9 37.9| - 5 445 | EH—AI GEFD
Y—bFeF 540 R (10 | FEHEE
RIRVIRATAYIVFUT— B:ARANLTSVVYD e ]
—= < RTTHIA - - JBRSES] ()
=Y AT 53 = 5(13.)3 11-12 | 38.1 10 (4_793) s
RiRSAYF B:FI—Iv YHAORS
@ 11— —®BIEfI
13—7+—
20—7F—
30—7— 12,11,10,3,6,2,9,8,1,7,5,4
43— — 12,11,10,6,3,2,1,9,8,7,4,5
o ILRE
B B 12 3304 AR 11-12 2004 % 3= 8-8 3604 3EE | 10-11-12 1,570
7B B 12 170 10-12 1,050H4 B 8-8 370 3EE [ 12-11-10 6,690
1 120 10-11 420/ F5 E 11-12 2504
10 310M4 =51 12-11 8204

ABIC OV TRUTEREERRODDZE. THRIIZEL.




